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Here,

M 0w,

)

3, b, carein G.P.

b? = ac

2logh = log b*®

= log ac
2logb =loga+logc
logh-loga=Ilogc-logh

loga, logh, logo arein AP,

Geometric Progressions Ex 20.5Q 2

Here,

a b, carein G.P., so

b% = ac
2
= 2log,, b
logy m o
= log,, b*
= log,, ac
=log,, 2+log, c
2 1 1
= +
log, 2 log, m log.m
1 11 1
log, w log, v logome logy m
1 1 .
are in AP,

4 4
log, m” log, o log.m
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Here,
&, b, carein AP,
2h=a+c
and 3, b, d areinG.P., so
b* = ad
M 0w,
(a—bj2=az+bz—zab
=az+aa'—a|:a+cj
Using equation (i) and [ii)
=5 +ad-a°-ac
= ad - ac
(a-8)° = a(d-c)
(a-5) _([@-c)
! (2 - &)
= a, [a-b), [d=c] areinG.R.
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Here, Let® be common ratio,
3,3, 3,3, of &P are in GP

p.l .:;I.'
8= a_*’: S
I 2
3, -3 .
=2 7 (Ratio property)
a, - a,

=|:a+[q 1]@'] [a+ r—l]a‘]
[a+[p 1]9‘] [a+q' l]a']




(p-a)d
q-r
e -0
M 0w,
g %
a G
= H (Ratio property)
7 ¥

i [a+[r-1)d]-[a+(s-1)d]
[a+[q—1]d]—[a+[r— 1]@']
) [r-s)d
l7-r)d

r-s
Rafzfo . 2
From equation as {1) and (2)

q‘—.”'_.”'—S
p-q p-r

= (p-q), (g@-r).fr-=) are’in GP
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1 1
a+b’ 26 b+c
2 1 1
E_[a+bj+[b+cj
1 b+c+a+b
b (a+b])[b+cC)
1

arein AP,

2h+c+3

b gh+ac+b +be
B +ac+b’+bo=20%+hothba

h? + ac = 2h°



h? = ac
=Tu
3, b, carein G.P.
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L5
x* =x2z% = 7% = 4 [=ay)

o

+
|I::-
I

—

[
o
[
Y
e Bl
] I}

ne Tl

are in AP,

[T TR
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E+9 k-6, 4arein G.P.
(k-6)%=(k+0)4
£%+36-12k = 4k +36
%16k =0
klk-18)=0

k=0, k=1f
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Leta-d, 3, a+d be numbers in &.P.

Herg,
a-d+a+a+d =15
3z =15
a2=2=5
Find

[[5—dj+1:|, (5+3), [(5+G‘j+'§l:|are in G.P.
= (6-d), 8 [14+d) arein G.P.

(817 = (6~ d)[14+d

64 = 84+ 6d - 144 -3~

d%+8d-20=0

(G‘+10)(d—2)=0

d=2, -10

S0,
Mumbers are 3,5,7 or 15,5,-5
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Let three numbers in AP bea-d, a+d
Here,
da-d+a+a+d==21
Ja=:21
a=7
And,
(7-d), [7-1), [F+d)+1arein G.P.
(7-d), 6, [B+d) arein G.P.
(8)° = (7-)(B+a)
36 = 56+ 7d - 80 - ¢
d*+d-20=0
[d+5)(d-4)=0



d=4, -E
Sa,
Mumbers are 3, 7,11 or 12,7, 2.
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Here,
a b, coarein AP,
Leta=A-4d, b=A4, c=4A+d
Here,
a+b+c =18
A-d+A+A+d =18
34 =18
A=06
And,
F+4), (b+4], [c+38) arein GA:
B-d+4], [B+4], [B+d+36) arein G.P,

10-d), (10), (42+d) arein G.P.
:] [lﬂ—dj(42+dj

100 = 420+ 104 - 424 - ¢

g%+ 324 -320=0

[d+40)(d-8)=0

d=-40, 8

(
(
(
(1

S0,
Mumbers of -2,6,14 ar 46,6,-34,
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Let numbers are 3, ar, art

a+ar+ariem e -m-=- {1}

f=-1),(ar - ?],{arz—?‘l} are in AP

= 2far-7)=a-1+ar®-21
= {ar2+a]— 22

2ar - 14 = 56 - ar) - 22 [using equation [1}]
2ar - 14 = 34 -ar
Az = 43
ar=16------- (z)

16
a= —

-

Put 3 in equation (1},

16 + 16 + 1602
r
16 4 16+ + 16r2 = S6r

16r% - 40r +16 =0
2ri-EBr+2=0

e dr—ra2=0
2r{r-2)-1fr-2)=0
[r-2){er-1)=0

= 56

1
F=2, -
2
Put r in equation (2),
ar =10
for r= 2=E=
e
1
forrs =, a=32
2

thus, there numbers are
B,16,22
in both cases.





